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Name: H: * Show your Work * Date:

1. Ms. Telebrco picks ten apples. She eats seven
of them. What fraction of the apples does Ms.
Telebrico eat?

2. DeJohn makes a batch of twelve cookies. He eats
two a day. What fraction of the cookies are left
after three days?

3. The Dodgers played eight baseball games.
They won six of the games. What fraction of
the games did they lose?

4. Ms. Telebrico had five Stargazers and four Roses
for sale. She sold three Stargazers and two Roses.
What fraction of all the flowers did she not sell?
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Name: #: \E Date:
5. Eighteen boys went on a hike. Nine girls also 6. Ms. Telebrico's students saw fifteen birds in the
went. How many more boys went hiking than morning and six in the afternoon. How many fewer
girls? birds did they see in the afternoon?
7. Ms. Telebrico saw twenty-seven big fish and 8. There are thirty-five students in Ms. Telebrico's
Mrs. Lee saw thirty-six small fish. How many ish class. Each student spends five hours a week at the
did they see altogether? computer. How much time in all do the students

spend at the commuter in a week?




Circle the numbers that go together.

<

necklaces beads
2 16
8 12
71
bags marbles
2 it
L 18

(7)  ArithmeTwists + Book B « Losic

-
e

purses pennies

3 9
2 I8

buckets shells

3 18

jars . cookies
3 . Ty
) |18
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Name: H. ”dl Date:

8\/\/\/

9. A bag of dog food weights one hundred _uoczam
Ms. Telebrico used thirty-six pounds. How many
pounds of dog food is left?

10. nrs_m+o_urm1 picked eight flowers for Ms.
Telebrico before breakfast. Then he picked eight
more after lunch. How many flowers did he pick for
her?

11. Write the expanded notation for nine
thousand two hundred thirty-four?

12. There are forty-five pencils in the box. Each
pencil box holds ten pencils. How many pncil boxes
can be filled completely with pencils?



Name: #: ’. ’ql Date:

NI ..\/\/37\/ E

T

13. Illustrate a figure that is two-third shaded? | 14. Tllustrate a figure that is two-third not shaded?

15. Ms. Telebrico has thirty cookies. If she 16. Which shape has four corners?
shares the cookies equally with three students,
how many cookies will each student receive?

Which solid has no corners?
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Name: #:

17. Which number goes in izw box to make

the equation (# sentence) true?
54 |=5+3+5

/o\)..

Hm/««,wr.ny\@ncn.:o: has the same value as the
one shown?

7+3+7
A.7+7
B.7+3
C.7+10

D.7 +17

19. Whichisequalto 7+1+9?
A. 7+19

B.7+9+1

C. 9+9

D.7+7+1

20. Which number makes this sentence true?

6+7=7+

o0 w>
o5 o~
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If [1+ /A = 12, show how [1could be:

1. even + D =12
2. odd 4 D m 1)
3. less than 3 + > =12
4. more than 8 + > =12
5. between 4 and 8 + RV =12
6. not a 1-digit number + D =12
7. equal to /A + D = _N
8.lessthan A + D =12
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